1.

& 1|4 AD: DB = BE: EC = CF : FA = 3: 1°]tk. AABC
o] |o|7} 160 Y W, ADEF 9] o] S Fstofet,

A

Q



@ AABC = AACD
@ AACE = ABCE
® APAE = APBC
@ AABP = AAED + APCE

® APAB + APCE = APAE + APBC

=




ohe 299} 4719 ABCD o4 AD /BT o] 4
a1, AABC 9] Eo]7} 20cem? ¥ o, ADBC 9]
Holg atolat.

B on?



4. A}ElE ABCD £ AD//BC ©]1, BO: OD = 3: 2 ©]t}, AODC =
18cm? & ™, AOBC 9] Yo|=?

A D

® 9cm? @ 18cm? @ 27cm?

@ 36cm? ® 45cm?



oS oA BP : CP = 1: 2, AABC =
8cm? Y o, AABP 9] Hlo]& otoief,

Q




6. T 1922 HIYAPHT ABCD ol AABP = 15cm? , APCE =
dem? 4 W, AAED ©] Hol& Fsteiet



7.

oS 1A AABC 9] ¥lo]= 24 cm? 9]
I AD:DB=1:2,DE:EC=1:3¢%
o, AEBC 9] {ol]&?

® 4cm? @ 8cm? @ 12cm?

@ 16cm®> G 20cm?

vs)

Q



8. thS Io|A At E ABCD £ AD//BC, ©]1 OC = 3A0 o]t}
AAOB = 9em? 9w, AACD 9] Ho]& Fa}loia},

A




th2 8o H M & BC 9 3ot} A
em & o,

AH =6cm, BC = 16cm 9 ADHC 9] 6cm /i
Blo] & +totofet.
B C

1
\
\\J—I M -

-

~16cm-~

CF-
D L cm?



A L




B D C

(1)BD:CD =3:5, AABC =16cm?2 ¥ 1], AABD 9] Y o]
(2)BD:CD =3:5, aAABC =24cm? ¥ o], AACD 9] Y o]

D L
=%
D

=%



12. o2 18] AAZLE ABCD oA A M-2AB A

o] Z&olt}, AMBP = 12cm? € ©f, DABCD
o] yol& st} M




13. i%lﬁﬂg%AABCoﬂﬁﬁ:mzl:3,ﬁ:m:1:3
AD : DE = 1 : 1°|t}. AABC9] ¥ o|7} 64cm? & o, AADF 9]

Blol=?
A
B E C
® 6cm? @ 8cm? @ 16cm?

@ 32cm? ® 35cm?



14. tHe 299 gPArHE ABCD 2] Hol7F 240cm? o] BC <]
HESE, F,CDo SHE Gt uf, Mgt BB Yol5
(&, &9l= Akt

A D




15.

o2 I3 ZHe AABCO|A AD:DB=1:1,DO:0C =1":6,
AF : FC = 1: 3°|t}. aAABC2] Wol7} 560 ¥ w], ACOF 2] Ho|=
“Fotof et




16. T 173 2] AD//BC 9l AbthelZ ABCD 4] OA: OC = 1: 2
olth. DABCD 2] {el7t 36 & w, aABCO ¢] Wol& F3loiat.

A D




17. & 13894 AC//DE ¢ u], AABC = 8cm? ©|t}. oABCD <]
Yol & Fotoigt,

D

~ /C ~ 7 L
~4cm-~ 3cm



18. o5 2T 22 FPAIHEY ABCDOIA BE : EC = 4 : 10|21
OABCD = 504 o, AABE 9] Ho|& 5tz

A D




19. CD 7} AABC 2] &40]1 AABC 2] Yol7} 32cm? ¥ 1], AADC 9]
Blo|E Fotofet,

A

E .
B o



20. 2 1737 7o) AD//BC Q1 A& ABCDOlA OA: OC =1:2
ot} AAOD 9] ¥lo]7} 18 € wj, nABCD 9] Yo]=?

@® 148 @ 150 ® 162 @ 175 ® 180



21. o3} o] Yol7t 36 91 42+ ABC |4 BD = 2DC, ED = 3AE
o|1, A B8 BE o &AL} ¥ AC 9] W HS F g & o, BE = 5EF
< o, AABE + oCDEF 9] Z-& &t}
A

F




22. 29 HPAHY ABCD A A E, F= 242 BC, DC 9] S|t
OABCD = 40cm? 2 1], AAEF 9] Ho]& 7o}l
D
F
B—+ 4 C
E



23. th& 2%elA H ML BCO| 0|3 AP = 2PMolt}h. AABC =
60cm? &, APBM 2] Ho]&?

A

oy
=
Q

@® 10cm? @ 15cm? ® 20cm?

@ 25cm? ® 30cm?



24. thg 27} go] AD//BC 2l AfrkalE ABCD o4 OA : OC = 2: 3
o]}, AAOD = 10em? € 1w, DABCD 9] Ho]2 Fajola},

A




25. & 1A AD:DB=3:2, BE: EC=2:1°]t}. AABC = 60
d o, ADBE 9] g °]& stoizt.

A




26.

BHAAE ABCD 0] 24 DBE A= Has

. -
2t1 512}, oABCD = 900cm? ¥ o, oAPCQ 9
- (s, sl et




27. the a3} o] AABCOIA AE: EC =1 : 2°]1 AAED = 4cm?
o wj, AABC 9] Ho]&?

A

Q

@ 12cm? @ 16cm? ® 20cm?

@ 24cm? ® 28cm?



28. & 1™ AD //BC 1 Attte]&o|th. AACD = 36cm?, AABO =
20cm? & T, AAOD 9] Yo| & Latoia},

A D




29. o3 JHA aABCE] HeolE=60°ltt. AD: DB =4: 1, BE:
EC=3:1¢ o], ADBE 9] ¥o|& F#5}loiz}.

A



30. thg 1Ew o] AD//BC &1 AlkelE ABCD 14 OD : OB = 2:: 3
oltk. DABCD ©] Hel7F 100 & o, AAOD ©] Hol& otoiz,

A D




31 thg 29 YA4UY ABCDOIA A B W ABS] SOl
DP : PE = 2: 10]th. BeAge] ol dsem? & wf, aDPQ]

wol=?
A D
P
E
Q
B C
@ 4cm? @ gch ® 5em?

@ LR, ® 6cm?



